ROUTING EXAMPLE
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Example 1.  All IP Routers

One Base Station  IP address 198.17.74.1

Three Satellites

a. IP address 207.74.73.1

b. IP address 176.45.34.1

c. IP address 164.56.23.1

Each of Satellites would have routes:

Satellite A.  On ethernet interface direct route of 207.74.73.1

                    On wireless interface direct route of 10.10.1.2

                    On wireless interface indirect route of 198.17.74.0, Target Router 198.17.74.1

Satellite B.  On ethernet interface direct route of 176.45.34.1

                    On wireless interface direct route of 10.10.2.2

                    On wireless interface indirect route of 198.17.74.0 Target Router 198.17.74.1

Satellite C.  On ethernet interface direct route of 164.56.23.1

                    On wireless interface direct route of 10.10.3.2

                    On wireless interface indirect route of 198.17.74.0 Target Router 198.17.74.1

Note:  By setting the base station router as the default router, you wouldn’t have to set up indirect routes for the satellites.

The Base Station would have a minimum of these routes:

On ethernet interface Direct route of 198.17.74.1

On wireless side Direct route of 10.10.1.1

On wireless side Direct route of 10.10.2.1

On wireless side Direct route of 10.10.3.1

On wireless side Indirect route of 207.74.73.0, Target Router 207.74.73.1

                            Indirect route of 176.45.34.0, Target Router 176.45.34.1

                            Indirect route of 164.56.23.0, Target Router 164.56.23.1

The default router for the Base Station would be a router either in the same building or at the ISP for the network.

Preferred IP address would be the address of the ethernet card in each base and satellite.

IP Masks could all be 255.255.255.0

Note:  Default Router would be the IP address of next router towards the Internet.
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Routing setup for Base - 2 radios

Routing setup for satellite
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